Pre-Calculus
Chapter 8 and 9
Group Practice Quiz
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3. A parallelogram has sides of 10 and 16 inches with an included angle of f 60°. Find the length of the

longest diagonal in the parallelogram.
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5. Solve: 5—3sin(28) =4 over 0° <0 <360 . Show your work.
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6. A population of wolves at a park is given by the equation p(t) =400-300sin {%(f—2)}, where t

is the number of years since the beginning of the count. P‘ «d R Y

a. Sketch p(t) over 0<1<10.
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c. What percent of the 8 year cycle is the population over 600 wolves?

7. Solve: 3+4sin’@ =4 over 0° <8 <360°

Jenitee 1

S'.’r)}é :'l - A9 [} © )
| 7 &= 350,/50, 9,350
&=L JL_



